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Practice: Interior Angles of a Triahgle

Find the missing ahgle. 2. ‘Fmd the missing angle.
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3. Find the msssmg angle. 4. TFind the missing angle. -
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5. Find the number of degrees in thethird 6. An architect is designing a home. What is
angle of the triangle.  1DO+431 X ={%0 the measure of the missing angle of the
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7. There is a slide in the back of the sChoo|. 8. A ratop is built 0 a building to help with
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A ladder is used to Climb to the top of deliveries. The angle that the bottom of
the slide. The angle made with the slide the ralmp makes with the ground is 37.2°.
ahd the ground is ¢9°. What is the value Estimate the measure of the other acute
Of %2 ahgie.
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9. SMP2: 1 can reason abstractly and quantitatively. ,
If the measures of two angles of a triangle are 100° and 19°, what is the measure of the third

.

angle?
Praw a picture ahd show your work.
0N 00+ 19+ x = |80
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10.  SMP2: Tcan reason abstraCtly and quantitatively. .
Explain how a straight angle is related to the angles of a triahgle.
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Both the angles of a triangle (sddedtmetber) and the
meacure of o straghdt angle are equal 4o | 0"

11. - §MP3: 1 Can CritigUe the reasoning OF others.
On a math test, the students are given a right tnang|e Onhe of the acute angles has a
tneasure o One student says the measare Of the other acute angle is 125°. His teaCher
marked the answer wronhg. What is the Correct measure of the other acute ahgle?

rie) f{’rno\r\fj\e has a 90° angle. A0+56 + x=}%0

Aeuteargle=less Hon 90° I Ztx=180 (x= 3‘5
What error Might the student have made?

A. The student only subtracted the right angle From 180°
B. The student subtracted the sutn of the tWo given ahgles from 360°
C. The student added the right angle ahd the giveh acute ahgle, but did hot Subt)‘aCt the

sum frotn 180°.
The student only subtracted the acute angle from 180°.

2. SMP: I cah model with mathematics.
Draw a picture of each scenario pefow and theh give the measure Of the missing ansgie.
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Scenario 1: In an acute triangle, the measures of the two angles are 50° and 60°. Yhat is the
‘meaSUYe OF the third angle?
60 + L0+ X =30
il,b@' +X= |80
“Yio _-Nno |
Scenario 2: Tn an obtuse trighgle, the measures of two angles are 120° and 10°. YWhat is the

fneasure of the third angle?
|20+10 + X= KO
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X = 60
gcenario 3: One acute angle of a_RI%HT triangle measures 35°. What is the measure of the

.othe acute angle? q0°
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